










What	
  is	
  the	
  best	
  diagnosis?	
  
A.  Verruca	
  vulgaris	
  with	
  trichilemmal	
  hyperplasia	
  
B.  Clear	
  cell	
  acanthoma	
  
C.  Clear	
  cell	
  hidradenoma	
  
D.  Clear	
  cell	
  basal	
  cell	
  carcinoma	
  
E.  Sebaceous	
  adenoma	
  



Verruca	
  vulgaris	
  	
  
with	
  trichilemmal	
  hyperplasia	
  



Pearls	
  
 Conventional	
  verruca	
  
vulgaris	
  may	
  elicit	
  a	
  
trichilemmal	
  hyperplasia	
  

 No	
  cytologic	
  atypia	
  of	
  
clear	
  cells	
  which	
  
recapitulate	
  outer	
  root	
  
hair	
  sheath	
  

 DDX:	
  Trichilemmoma	
  


